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SECTION i
2. Write short answers of any six parts from the following:  (2u6=12) Al felir P Lmga §id ks 2
i, Define reciproua wua: on RE g ey St |
i Solve by factorization: Exé .. 307 =0 (o Sd i T
ii.  Solve the equation using quadratic formula: - . 4x% - 3y =14 LA &b sidumd s Al
iv.  Find the discriminant of the quadratic equation:  9x? + 25 = 30x L0 oo

v. Findthe sum & product of the rools of the equation:  3x* —Sx +7 =0 gk 2 laaf il et ¥

vi. Evaluate: et g8 -5 yipned i
wi.  Defing inverse variation. s s v
il ffaoc X enda =3 when b = 4 findvalue of K. LAk b =4 fa=duax s
it. Find & mean proportional between 20.45 20,45 gt iidy, X
3. Write short answere of any six parts from the following: ~ {2x6=12 Wil g Rdta 3
i, Defing an identity. LI PEs i
Il = 1 + s thenfind the valuss of A & 8. .bffr_»_i“-.:af@'hlﬂiak—_i%ﬁ =LA F
iii. Define a bijective-function. E sz i
iv. Fx=0y=2Z"thenfindx ny. e 0 yiax = 0,y =271 v
v. Find @ and b, I (g —4,0-2) = (2,1) S b N

vi. My =4{-2,12}inen make two binary relafons for ¢ X y:  _z pundgndly x yiny = [-2,1, 2ahioM

vi, Define arithmetic mean. oy Al
vii.  Find geometric mean of. 2.4.8 :.g;f,bq,,,s;,gﬂ viii
ix. Flnd the range of following welghts of sludents: (e Range)er i S e x

142, 109, 84, B9, 77, 104, 74, 97, 51, 59, 103, 62
4. Write short answers of any six parts from the following: (2x6=12) wfenn Lange ittt A

i, Define radian. s
I Convert 315" into racian, Sk tas31s”
ii.  Fird area of the sector of a circle of radiug 16 cm ifthe anglaat /s i 181807 o AR S i
o i d H "
the center is 60 . e 60 s
v Prove that 1 L L e W

1—cast) + 1-rcosé

v, Define acute angle. S e Y

K Py, e ..__‘__‘2_.‘1:‘):




e e

6.{a)
)

7.(a)

(b)
8. (a)

prrﬁ--i?i’—-‘:f

Define circle. U TR
. Define circum-angle. LI G
Define in-circle. A s P

Divide an arc of any length into two equai parts,
SECTION-I (8x3=24) (0

Altempt any three questions in all while Q.No 9 is compulsory: ’%dﬁﬂgf«ﬁf-&:{ﬂquxéamypfj

Solve the equation: 24% = 1122 4 5 =0 L

if &, B are the roots of the equation x? — 3x + 6 = 0, form Ur Xt — 3% 4+ 6 = Ocbsoze, B0
equation whose roots are 2 o< +1,28 + 1. A2 & +1,28 + 1UJ,J¢:L‘&J[.M.,L_,;

Find a fourth propartional to: af = 11x + 24, x =3, 5%t — 4027 Ay
1 T £k 8 1
Resolve r————inlo partial fraction. -na’fu’z’ygkusfdjz,fix\tl}f i

Provethat AN (BUC)=(ANB)U@ANCYE: A0 BUC = (40 B) U (AN C) Ll ut
A=(1,2,3,4,5,6) B=(2,4.6,8}, C={1, 4,8}

Caloulate variance ofthe data: 10,6, 9.7,5,12,8,6,8, 2 s giogdee . )

; Al -2 ; in
If sind = - and terminal arm of the.angle 4 is not in P g N | R\ :52_ /

?UL::;::: ~Ill. Find the value:s/af remaining tngonometric N A Bk
Inscribe agirclesin an equilateral triangle ABC with esch sidk of &0/ 1B &bt~ KABC ki Lttyi §L-
length 5 ¢m. Py

Prove.thél two chords of a circle which are equidistant from the PREEIITIORE AT
center, are corgruent. : ; Sr

_L,E’Zwmfl:"
{OR} (L)
Prove that the opposita angias of any quadrilateral inscribed in a et AU L 2l ’-‘”JG-J'UUI#ZF"—L’
clrele are supplementary. Y PR g
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